GHB-1340A Bed Assembly |

Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-bed-assembly- 732



https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-bed-assembly-i

Description

Index Number

10

10A

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

Part Number

GHB1340A-01101G

GHB1340-MPG

BDB1340-MPG

TS-1550071

GHB1340-1102G

TS-1491051

TS-1490041

TS-1550061

GHB1340A-02703G

GHB1440A-02703G

GHB1340A-9B

GHB1340-MP

BDB1340-MP

TS-1523041

1203

GHB1340A-12B

01204-2

32A1105

32A1106

GHB1340A-1701

BDB1340A-1701

321728

321706

GHB1340A-1702

BDB1340A-1702

1707

GHB1340A-21B

GHB1340A-1703

BDB1340A-1703

32A1103AG

TS-1503061

GHB1340A-25B

32A1710

TS-1524061

01710A

Description

Bed

Motor Base (For GHB)
Motor Base (For BDB)
Washer

Gap Bridge

Hex Cap Bolt

Hex Cap Bolt

Washer

End Cover (GHB-1340A only)
End Cover (GHB-1440A only)
Screw

Pulley (For GHB)
Pulley (For BDB)

Set Screw

Rack

Pin

Rack

Collar

Collar

Lead Screw

Lead Screw

Key

Collar

Feed Rod

Feed Rod

Brake Ring

Spring

Shaft

Shaft

Bracket

Hex Socket Cap Screw
Pin

Handle Hub

Screw

Handle

https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-bed-assembly-i

Size

M10

M10x35

M8x25

M5x8

28mm ID

19mm ID

M6éx12

5x35mm

GHB-1340A

BDB-1340A

GHB-1340A

BDB-1340A

1x7.5x25

GHB-1340A

BDB-1340A

M6éx22

6x25mm

M8x28

Qty

713125


https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-bed-assembly-i

28A

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47A

48

49

50

51

53

54A

61

69

70

71

72

73

74

75

76

77

GHB1340A-77

GHB1340A-29B

TS-1522031

1708

32A1104AG

GHB1340A-33B

TS-1504131

32A1502

GHB1340A-36B

TS-1504121

32A1502

GHB1340A-39B

32A1301G

TS-1504041

TS-1523051

32A1705

SB-6MM

GHB1340A-45B

TS-1524041

TS-1525021

32A1504

TS-1505051

TS-1502021

TS-1503061

TS-1540061

TS-1492061

GHB1340-61B

GHB1340-69B

GHB1340A-74B

TS-1505051

TS-1505061

TS-1551071

TS-1551071

TS-1550071

TS-1505071

TS-2360121

LM000211

Pin

Knob

Set Screw

Collar

Bracket

Pin

Hex Socket Cap Screw
Plug

Pin

Hex Socket Cap Screw
Plug

Oil Ball

Switch Box

Hex Socket Cap Screw
Screw

Bushing

Steel Ball

Spring

Screw

Set Screw

Switch Box Cover

Hex Socket Cap Screw
Socket Head Cap Screw
Hex Socket Cap Screw
Hex Nut

Hex Cap Bolt

Pin

Pin

Set Screw

Hex Socket Cap Screw (For BDB)

Hex Socket Cap Screw (For GHB)

Lock Washer

Lock Washer

Washer

Hex Socket Cap Screw

Washer

Label-Induction Hardened (serial #16043259A and higher)

https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-bed-assembly-i

3x10
BM10x50

M5x8

6x70

M8x65

6Xx65

M8x60

8mm

M8x20

M6x16

emm
1X5X22
M8x16

M10x12

M10x35
M5x10
M6x25
M8
M12x60
6x30
8x60
M12x40

M10x35
(BDB)

M10x40
(GHB)

10mm
10mm
10mm
M10x45

12mm

713125


https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-bed-assembly-i

78 JHM610-151 Rivet (serial #16043259A and higher) 2x3mm 4

Additional Information

Stock Number 321119-4

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-bed-assembly-i 713125



https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-bed-assembly-i

